Warm Up 8/30/18
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Dividing Decimals

1. Set up division problem 26 Oy 2 5

2. Move decimal points until \ I
the divisor is a whole number Dividend Divisor
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cConverting Fraction » Decimal

Divide the numerator by the
dehominhator

OR

Create equivalent fraction with
10, 100 Or 1000 as denomihator
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Converting DecCimal FracCtion

Put decCimal as humerator
over 10, 100, 1000 and

Simplify
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cConhverting to g Percent

From Fraction: Put fraCtion over 100
Or conhvert to decCimal

From Decimal: Swoop the decCimal point
2 places to the right






converting from a Percent

TO Fraction: Put % over 100 Or
convert t0 a deCimal

To Decimal: Swoop the decCimal point
2 places to the left






